
10 August 2011 Wednesday Race Result Elazığ Racecourse (18th Day)

11st Race  Starts At:14:00 Maiden/DHÖW 56 kg, 1200 Dirt

Prize 1.) 14.000 t 2.) 5.600 t 3.) 2.800 t 4.) 1.400 t
Breeders Premium 1.) 3.500 t 2.) 1.400 t 3.) 700 t 4.) 350 t

Silk Result Horse Name Age Sire Dam Weight Jockey Owner Trainer Time Win PSF St Margin Late Start RT

1 BARANBATUR(1) 3yo b c TEMİZSU - SABAHIM 51 R.DOĞAN HAC. YILDIZ HAL.ŞİMŞEK 1.25.23 7,60 11 Far

2 KURAKLIK(6) 3yo ch c DİDİM - NAZLICAN 51 E.KILIK MEH. ÇELİK S.R.ŞEN 1.26.40 34,85 7 Nose 14

3 UFUKAKAY(9) 3yo ch c GADDAR - ŞÜKRAN.4 56 UFUK AKAY YAK. ÇELİK S.ÇELİK 1.26.41 1,95 5 2 Lengths

4 ÖZALTIN(7) 3yo ch c EMİROĞLU - ŞAKİRA 56 N.ALTIN MUS. YILDIZ Z.KISA 1.26.77 4,90 8

5 ZÜLÜFKIZ(15) 3yo ch f TOY-TOY - GÜLAYŞEM 54,5 KEMAL KURT HAL. COŞKUN K.GÖK 1.26.89 2,45 3 32

6 YENİHİLAL(14) 3yo gr f BENİM OĞLUM - SEVİL 54,5 M.AVŞAR SEF. ÜNLÜ S.ÇELİK 1.27.65 8,20 15 21

7 KIRNIÇABİ(4) 3yo gr c YAŞARCIK - GİZAY 56 F.YARDIMCI CEL. KAYA K.YILDIZ 1.27.87 18,50 6 14

8 DİVANABEHLÜL(2) 3yo gr c BENİM OĞLUM - SAFİNUR 56 AHMET TAŞ HAL. FELHAN HAL.ŞİMŞEK 1.29.56 3,25 1

9 KIZILBEY(5) 3yo gr c ODİNHAN - ÇİSENTİ 56 ERCAN ALTIN M. NAB. DEMİRKOL S.R.ŞEN 1.30.71 39,45 10 14

10 KÜÇÜK MERAL(11) 3yo b f NECDETHAN - FİLİZCAN 54,5 A.TOPRAK SEF. ÜNLÜ S.ÇELİK 1.30.82 8,20 13 16

11 HAYDARINOĞLU(3) 3yo gr c BENİM OĞLUM - MİRYILDIZI 51 M.A.AKTÜRK M. ALİ ÇELİK S.ÇELİK 1.33.55 11,60 4 30

12 GAP SULTANI(10) 3yo ch f İBOHAN - OSMANLIGÜZELİ 54,5 SELİM KURT AHM. KAYA HAL.ŞİMŞEK 1.34.49 25,85 2

13 PELOŞUNKIZI(12) 3yo ch f TATARCIK - PELOŞ 54,5 M.ÜNLÜ ABD. YETİM S.R.ŞEN 1.34.80 22,05 12 14

14 ŞANLIFEDLA(13) 3yo gr f DİDİM - ÇEKİRGEKIZI 50,5 M.SUNAY MAH. KARAKEÇİ Z.KISA 1.36.53 48,35 14

15 SİVEREK KARTALI(8) 3yo gr c YILDIZAĞA - YABİRCAN 56 M.DOĞAN MEH. KARAKEÇİ Z.KISA 1.44.34 30,60 9

Pick(1) :7,60 t, Quinella(1/6) :157,50 t, Exacta(1/6) :332,75 t, Place(1) :2,30 t, Place(6) :14,65 t, Place Quinella(1/6) :55,80 t, Place Quinella(1/9) :15,40 t, Place Quinella(6/9) :40,40 t, Superfecta(1/6/9/7)
:1.228,32 t, Quartet(1/6/9/7) :12,61 t


